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1713 1)
AEAOMENA ZHTOYMENA
x*(t)+y*(t) =25 @) y(t,)=;
x(t,)=4 B Y(t,)=:
x'(t,)=3
y(t;)>0

Oétovpe t=t, X(to)=4

a) X(t)+y*()=25 = X*(t,)+Y’(t,)=25 = 4°+y?*(t,)=25=>

16+Yy°(t,)=25=Yy°(t,)=25-16=Yy*(t,)=9=y(t,)=+3 = |y(t,)=3

nmapaywyilovpe

B) x*(t)+y*(t)=25

¥(t,)>0

=  2x(t)x'(t)+2y(t)y'(t)=0=

X(ty)=4, X'(t,)=3
t=t, y(ty)=3
=2x(t,)X'(t,)+2y(t,)y'(t,)=0 =  2-4.3+2:3-y'(t,)=0=
= 24+6Y'(t,)=0=6y'(t,)=-24=|y'(t,)=—4
17.13 2)
AEAOMENA ZHTOYMENA
x*(t)+y*(t)=4 @) y(t,)=;
x(t,)=+3 B Y(t,)=;
X'(t,)=—4
y(t,)>0

Bétovpet=t,

0) X()+y2(1)=4 = X(L)+Y:(t)=4 = VB +y3(t,)=4=

3+y*(t,)=4=y (1) =4-3=y(t,) =1=y(t,) =+1 = |y(t,)=1

B) x*(t)+y*(t)=4

t=t,

nmapoayoyilovpe

=

X(to ):\/§

y(ty)>0

2x(t)x'(t)+2y(t)y'(t)=0=

X(to)=‘/§ ' X'(t0)=4

¥(to)=1

=2x(t,)x'(t,)+2y(t,)y'(t,) =0 = 2:\f3-(-4)+2-1-y'(t,)=0=

= -8J3+2y'(t,)=0=2y'(t,) =83 =

17.13
AEAOMENA ZHTOYMENA
2x° (1) +3y* (1) =11 | o) x(t,)=;
y(to)=- B) X(t)=;

y'(t,)=—4
x(t,)<0

y'(t,) =43
3)




@) 2X°(t)+3y*(t)=11 = 2x°(t,)+3y’(t,)

Oétovpe t=t,

(to ):_1

y
11 =

= 2x%(t,)+3-(-1)" =11=2x*(t,) +3=11=2x*(t,) =8 =

X(t,)<0

=x(t,)=4=x(t,) =12 = |x(t,)=-2
mapaywyilovpe
B) 2x*(t)+3y*(t)=11 = 4x(t)x'(t)+6y(t)y(t)=0=
Hell
= ax(t,)X'(1,)+6y(t,)Y'(t,)=0 =  4(=2)x'(t,)+6(-1)(-4)=0=
= -8x'(t,)+24=0=-8X'(t,) =—24 = |x'(t,) =3
17.13 4)
AEAOMENA ZHTOYMENA
x*(t)-y*(t)=5 ) x(t,)=;
y(t,)=2 B X(t,)=:
y'(t,)=-6
x(t,)<0
Oétovpe t=t, y(to)=2
a) X (t)-y*(t)=5 = x*(t,)-y’(t,)=5 =
X(ty)<0
=x*(t,)-2"=5=x*(t,)=9=x(t,) =13 = |x(t,)=-3

B X (t)-y*(1)

t=t,

= 2x(t,)x'(t,)—

= —6X'(t,)+24=0= —6X'(t,)=—24=

mapaywyifovpe

=

¥(to)=2. y'(t;)=—6
X(tu ):_3

2y(t,)y'(t,)=0

2x(t)x'(t)-2y(t)y'(t)=0=




